oo e)® &()®

!HHIIIIIII!\HII

Number of Questions in Booklet : 75

bl

3 'E 5 $ B B B B 3B
== | w7 7 — 794 | QUESTION PAPER —lll |

HFRUTE / Roll No. (2R ¥ / In figures)
{3‘[33\'[' i {In Words) - 5 : ettt e . R

fawa / Subject : _
Computer Sci. & Application

F1Z / Code :

qReET W gt e /

Number of Pages in Booklet : 32

gitaet & yye @ e |

9= / Time 2-1; ¢ { Hours ) '_ : quich / Maximum Marks : 150

INSTRUCTIONS .

Answer all guestions.

All questions carry equal marks. i

Only one answer is to be given for each questlon

if more than one answers are marked, it would be treated as wreng answer.

" Each question has four alternatlve responses marked serially as 1. 2, 3, 4. You hava to darken the correct
answer.

There will be no negative marklng for wrong answer. ’

The candidate should ensure that Roll Number, Subject Code and Serigs Code on the Question Papér
Bocklet and Answer Sheet must be same after opening the envelopes. in case they are different, a
candidate must obtain another Quesuon Paper of the same series. Candadate himself shall be responsnble_
for ensuring this.

8. Mobile- Phone or any other electromc gadget in the examination hall is strictly prohibited. A candidate found

with any of such objectionable material with him/her will be striclly dealt as per rules.

9. The candidate will be allowed to carry the carbon print-out of OMR Response Sheet with them an conciusmn

of the examination.

10. If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English

Varsion of the question, the English Version will be treated as standard. ]

Warning : If a candidate is found copying or if any unautherised material is found in his/her possession,
F.1.R. wauld be ledged against him/her in the Police Station and he/she would liable to be prosecuted
under Section 3 of the R.P.E. (Prevention of Unfairmeans) Act, 1992, Commission may also
debar him/her permanently from all future examinations of the Commission.
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A process can follow the sequence’ in order

(l) Ready, New, Run, Terminated

(2) Blocked, Ready, Terminated, Run

(3) New, Ready, Blocked, Run, Terminated

(4) New, Ready. Run, Terminated

U TR PO ¥ B ow W ouW e b2 .
) MW, 5, w, <fRe (2) w%%zﬁﬁ%gm_
(3) = s, @ms, @, RS (4) =g, U, @, =R

-

A join in RDBMS without any condition is called

R

(1) Self Join (2) Lef Outer Join
(3} Right Outer Join (4) Cross Join

e RDBMS%HT%H{& §f ¥ pEART ®

(V) G g Q) AT SmE whsﬁ

(3) TwET S WET (4) ®E g

3 The Boolean expression for the output F of the multiplexer shown below is

R
R F
R" .
RI.

P Q o

(D _(PED()(-BR) _ () (PogQ®R)
G) P+O+R - (@) (P+Q+R)
ﬁmﬁwﬁgﬁn—@rﬁm%wﬁsmaﬁﬂwﬁwmﬁmasﬁm
TR 7

: R _
R

R —

P Q |
) (PEBO@R) (2) (P®QO®R)

() P+O+R @) (P+Q+R)
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What ensures that after successfill transaction completion, all updates persist
irrespective of system failures ?

(1) Atomicity ~ (2) Consistency
(3)" Isolation (4) Durability

mgﬁﬁmm%mﬁm%aﬁmwmam woll
T I W Rren b € F wEm@E

() SRR @)  whe=d
() omERIE @) sl

a4

Consider a direct mapped cache of size 32 KB with block size 32 byles.

" The CPU generates 32 bit addresses. The number of bits needed for cache

indexing and the number of tag bits are respectively.

(1) 10,17 ' 2) 10,22

- @) 1517 @ 517

Wﬁﬁ@@g’&ﬁﬁﬁ%ﬁ&ﬂﬁ@ammm%ﬁwﬁwmm
32° W@r%i@tﬁ{nﬁzw@v&m%lﬁmm%mw
Wa?r%maﬁtwﬁhWﬂ B’P‘I’r

(1) 10,17 @ 1022

Gy 1517 @ 517

Which one is true in context of static RAM 2
(1) It does not store data in flip-flops

(2) It is used in implementing.cache-memory
G) It is very cheap |

(4). Used systems main RAM .I ‘

wfew W F wef ¥ dvew oww ¥ 7
(1) g5 fmu—amg § swr @t o T8 e
(2) U% HY T B wribay @ E

- (3) UE WA wE ¥

(4) uE fyewm & W W § sumphr ¥

03/ COMPSCI3 A ; g (conte..
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9

Identify Leaf nodes in a binary tree, if given preorder and inorder traversals
of the tree are

Preorder ABCDEF

Inorder- : BAEDFC
(1) ABC (2) BEF
(3) D¥FC (4 DCE

AT @ @ fw T o wihg, ﬁaﬁﬁﬁ:wﬁw\aﬁrwm

Tovgw &l g3 %
f-ams$t :  ABCDEF
T-as¢ :  BAEDFC

() ABC  (2) BEF

() DFC | (4) DCE

Which of the following bit patterns give best performance using Bootlt's
algorithim ? - '

(1) 1111 0000 | (2) 0000 111t

(3) 0101 0101 - @) 1111 1111
Wﬁ%ﬁ—mﬁﬁﬁiwwﬁﬁ?qﬁmﬁﬁwm
aremT el ¥ 7 '
ay 1111 0000 ' (2j 0000 1111
'(3) 0101 0101 | @) 1111 111

Consider a set S :{1,0);(_1)2}, where @ and cot @2 cube roots -of' unity.
[f * denotes .the multipiication operation, the structure (S, *) forms
(1) -a group (2) a ring |

(3) an integer Domain (4) a Field

o f5 uE A2 S={1,m,m2}ﬁﬁmaﬂ1m2i{ﬁrﬁ%a¢gam%l'

T * Ui ST B vt ¥, R QR (S, ¥) W e
Iy wgw\ 2) w
(3) U& 3heX N | (4)@3?1’(76’
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For given set of data if 2°d and 3™ pass are given , name the sorting
atgorithm

UP data @ 13452, 176543, 27384, 22345, 17263, 29340, 984?2 28739,

66785
ond Pass : 98432, 28739, 29340, 176543, 22345, 13452, 17263, 27384,
_ 66785 . | -
3rd. Pass : 17263, 29340, 22345,27384, 98432, 13452, 176543, 28739,
06785
(1) Selection Sort (2} - Insertion Sort
s
(3) Bucket Sort (4) Quick Sort

srieiad st & ¢ ofit 7% facfias (209 Pass) @ik gadrme (3¢ Pass)

UP data : 13I452, 176543, 27384, 22345, 17263, 29340, 93432, 28739,
66785 '

20d Pass : 98432, 28739, 29340, 1?6543 22345 13452 17263 27384,
66785

-3 Pass ].?263, 29340, 22345,27384, 98432, 13452, 176543, 28739,

| 66785 y
() @@ W@ @) TEEE G
C(3) e @ (4)' Fwm =i

. Find out the number of page faults using FIFO :

313 4 2 41 2312 4 2 3 1 3

[ @ 9

@) 10 @ 1

FIFO & ST § 7/ g0 9w W % T@x sid HiRmg
3013 42 41 2312 4 2 3 1 3

1) 8 ' @) 9

3) 10 _ @ 1

03/ COMPSCI33_A] -5 I (Conta.—.
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- For a hypothetical processor, compute result of the below written assembly

program assuming status of register as
R, = 1, Ry =2 Ry=3 Ry=4d Ry=20
PUSH R,

FUSH R,

PUSH R,

MUL PUSH Ry

 ADD PUSH R;

DIV -
ADD
iy e 2
() 3 4 4

m@rr?’ﬁmuﬁwéaﬁm ﬁm%wmaﬁﬁw&ﬁ%wiauﬁﬂﬁ

@Wﬁﬁﬁmmuﬁﬂnﬁmaﬁ

Ro=1, Ry =2, Ry=3, Ry = 4, R4—’)O
PUSH R,
PUSH R,,
PUSH R,
MUL PUSH R,
ADD PUSH R;,

DIV

ADD |

1y i .' @ 2
Gy 3 @ 4

Which project 802 standard provides for a collision free protocol?
(1) 8022 (2) 8023
(3) 8025 . " (4) None of these

HIA-T A 802 Tk, R o Weed % fag g v

(1) 8022 @ 802.3

(3) 8025 @) Suled ¥ ¥ wE A6l

sIcOMPSCIS AL 6 I 1Conca-
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You have_an IP address 156.233 3.42.56 with a subnet mask of 7 birs How
many hosts and subnet are possible ?

(1) 126 hosts and 510 subnet (2) 128 hbsts and 512 subnet
(3} 510 hosts and 126 subnet (4) 512 hosts and 128 subnes .

mwwm%?bnsﬁama 1562334256351611’5“1?( T
% T ot uete g ¥ ?

() 126 @ ot 510 wa¥e () 128 B ok 512 wae
(3) 510 @ ol 126 we  (4) 512 @R ol 128 wEe

The Solution of NP-Complete problem

(1) Never gets solved o (2). Status is unknown

(3} Takes po]Yriomial ‘time G Takes non- polynomlal tlme
Al i wen wmowwmaE § |
(I)Wﬁwéﬁﬁmm(z)éwmmﬂé’r

() dfifew e S ¥ (4) I dfee e o ¥

Let 7 be a regular language and A be a context free language, both over
the alphabet 3 Let Z¢ and M¢ denote the complements of L and M

respectively. ‘Which of the following statements about the language

ISUME s true

(1) 1t is necessarily regular but not necessarily context free
(2) It s necessarily context free '

(3) It 1s necessarily non-regular -

{4) none of the above

LIEIACS WWTW%@TMWWQWQ%W% a’m’riﬁraﬁw

A, I@TM%WELC@TMCQEQWW%ﬁﬁWﬁTﬁQHﬁ

HWWWWLCUMC%EWW%

(1) & TgeY ¥ utg wreaae W wad i
(2) T wrewEe B wEd d

(3) =& AW TgwR wed
@) T ¥ @ wE | o .
03/ C-O‘MPSCI33_A]I 7 B | M T€onta...
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17

18

19

A polynomial time algorithm makes polynomial number of calls to
polynomial time subroutine . The resulting algorithm runs in -

{1) Polynomial time (2) Exponential time
(3) Complex time ~ (4) None of these

T AR 239 Seiigd TR TR weed % Rig g
HIA @ TEL @I & G afemer 3EniEd 3T gm

(1) qﬁmﬁaﬁagq (2) UHEAIAT 2EH

(3) wrRgE TRY _. 4y Wﬂﬁ'lff ??r'aﬂ”a‘ Y |

Which lof the following grammars can be converted as an operator grammar
(n S—>SIAS' | 'eiA— Aala

() S— SAbA— Aga

() S—SSA | eAsAda

(4j None of these _
frefefea F & S-@ 7R, offrey wwy ¥ awel o1 wwdr

(1) S—SAS | e A Aala

(2) S-» SAbA— Aala.
(3) S—SSA | e Ao Adh

(4) S ¥ ¥ b A

Which of the following is an unweighted code ?

(1) 8421 code . (@) 5211 code

. (3) Excess 3 code - (4) 2421 code

frr F ¥ B e e T 7
1) 8421 Bre | @) 21 @

(3) g 3 GIES : (4)- 2421 s
03/ COMPSCI33 A] ‘ 8 AN [(Contd...
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22

The minimal expression of F(A,B,C,D) = ¥(0,5,7,8,9,10,11,14,15)
(1) B+ C + D' = F(ABCD)
(2) F(ABCD) = AC + AB' + BCD' + ABD

(3) BCD' + AB' +ABD + AC + BCD : o

(4) None

F(AB.CD) = 3 (0,5, 739 10,11,14,15) ¥ ﬁr-ﬂna Ty ¥

) B+ C' + D' = F(ABCD)

(2) F(ABCD) = AC + AB' + B'CD' + ABD

(3) B'C'D' + AB' +ABD + AC + BCD
) @

A 4*2 encoder uses the following priorities 1; 15 I, I, (highest to Towest)
if the encoded bits are Y; Y, what is the expression for Y, (MSB)

1y 1, + 11 I @ I, +1

-@4*2@2{%@1%@@%&1 I;IOI;,_ (wm#aaq)tmﬂﬂﬁm}l

mqwaﬁ%gfam\f, Yo%a‘rY,(MSB)aaqwﬁmwﬁvﬁ
(1) L +1 1, 2) I+
G) tl P+ (4) @i 7@

The size of PLA is specified by number of _
(I) input . (2) Product terms

(3) outputs . (4) All

dumu. (PLA) & wEw ﬁh‘Eﬁi T ¥ yule o<y ¥

(1) Ty @ WREw o

6 W @ wh
03/COMPSCIB3BA] 9 | I KConte..
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24

How many flip- ﬂops are requlred to construct a mod-60 counter ?

M 3 @) 4
G) S5 (4) 6 |
60 Tl T ¥ R Rt Reewwne @ orawma ¥ 7
(1 3 ‘ (2) 4

) YT ) B

In hierarchical model a record type that does not pafticipate as parent record
type in any parent-child relationship type is called :

(1) Leaf of the hierarchical schema

(2) Root of the hierarchical schema

{3} Parent record set

(4 Child record set

Tl Az & U@ (@E TRy o @ o = - UEe e gei
ﬁﬂiﬁﬁiﬂémﬁwaﬁﬁw%a@mﬁ% "

'_ (_l) Fafe R @ dw

@ %ﬂﬁ'cﬁfﬁama?raz

%)
h

(3) ﬁi?ﬁ'cméﬁz
(4) e ToE a4

Which of the following is a collision resolution method ?

(1) Open addressng ~ (2) Chaining

3) Multipie hashing (4) Al of the above
Pt & ¥ wm-m ﬁvrﬁﬂsﬁ Er?m 7

(1) s i | @ =T

(3) wedmw ¥ | (4) S vsni’r

03 / COMPSCI33: A} B RN (Contd...
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26

{2y T

The internet working device that connects two networks together and whose'
sole aum is to trace the best possible route in the given netwmk tor
transmitting the mfomlatlon 15 :

(1) Hub

(2) Gateway

(3} Switch

t4y  Router |

W O A e St e @ dead @ ofled ¥ o wa o
®AE Wed ¥ T RU ge Yeuds § w9 v WwliE w2, gE @ A
% T ual @

(1y =

(3} Fam

(4y - TITT

If there are 32 segments, each of size 1K byle then the loorcal address
should have

() 13 bits

(2) 14 bits

{3) 15 bits

(4) 16 bits

M 32 A F o ydw @ arw 1K Eﬂi? &l Wi e g

(2) 14 Rew
(3) 15 fzm

{4y 16 Reg

_qsx(_:()mps(:sss_ﬁ.; - L§| T :Cm;ul...
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What ts output of the following 7

main( )

I
|

int i = 1,

while(i<=32767)

{
1
printf("%ed",
printf{"™n");
1 =1+ i

;

[

|

(1) 132768
(3). -32768

3 3

1),

(2)
)

frmfalee o1 omeege w M ?

main{ )
§
1
I}
1
nt i = 1;

while(i<=32767)

{
1
printf("%d",

_' printf("\n");
1 =1+ 1

!

13

53

(1) 132768
(3) -32768

03 / COMPSCI33_A|

i)

3

L)

3 3 3

Indefinite loop

32767

(2) Eﬁ%ﬂ@rmﬂﬁﬁ%am@q

)

12

32767

IR (Coned.-
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What is output of the following ?

main( )
(
1 mt x|
while(x <=10)
(
printf{"\n%d", x );
1’ | : v
X =x + 1
]
M o @ 10
| 3) 101 (4) cant say , may be a blank screen
? - Prefefe @1 oneege @ @ 7
“main( )
I
o
_ int x
L while(x <=10)
‘ i
U
printf("\n%d", X )
X =x + 1
3
H
1
f
M 11
(2) 10
G) 1011

() B wE T A U, T BT W wedr &

wd- " 03/COMPSCIS3_A] B [ (Conta-.
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30 Which one is true regarding switch case in C language ?
(1) The switch executes the case where a match is found and leaves all
subsequent cases if we do not use break '
(2) We need to follow either ascending or descending order in cases
(3} _Use of break takes control out of switch
" (43 Both (2) and (3)
o ¥ e ww % g ¥ A el ¥ 7
(1 Wﬁ?ﬁﬁﬁiﬁw%?ﬁ“@hﬂqﬁﬁﬂ?{é'@m%aﬁ?aﬂ%ﬁﬁ@?-
W ¥ oK T AW B SUET T HW T
(2)'%1?&@1%@131@@@%@%#@?1_'
G) A% @ g faw & P & & E
@ A @) W ()
31 Standéra Template Library (STL)) provides three derived containérs pamely
(1} Vector, list, deque
(2) Stack, queue and priority-qt_xeue
(3) | Set, multiset," map
(4) None of the above
- wed Al (STL)_%-WW%W%.%
() ¥, fee, B |
(2) ® W, W F
(3) e, ARHE, A
(@) e § X @
03/ COMPSCI33 A| | 14
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‘What will be output of following C-program ?
void foo (int a) {
printf("%d " --a)
if (a>0) foo(a-1);
;

void main()

{ foo(s):} T
) 543210 2) 012345
Gy 135 @ 420%

Pridtiee C whmr @1 ersege @ E‘Fﬂ ¢
void foo (1nt a) {
pnntt("%d M,--a)
| if (a>0) foo(a-l);
i

votd main() -

{ foo(S);}
(1) 543210 (2) 012345

G) 135 ' (4) 420

Ann x n array v is defmed -as fbllow_s_' The sum of the elements of the
array - ;o "

Vs VL _]] = I for all i, j O<ign-1,. 0<j<n1

M o @ nl
(3) n3n+2 @) n2@1)R
mnxn@va%ﬁﬁr%rﬁﬁaﬂ%ﬁ%asﬁmw%?ﬁw@%w

Sl W WiE W BT

VL j] =ijad & fog i, j o_gign-l, Ogjgn-l
() 0 (2) n-l
(3) n23n+2 @ 22

93/ COMPSCIS3_A) 5 Cona-
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34 The most appropriate matching for foliowing pairs

W: Threaded _ 1. External

X: Depth first search 2. Stack

Y: Uﬁderﬂow 3. Graph

.Z:  Sorting | 4 Tree

(1) W-4, X-3, Y-2, Z-1 Q) W2, X-4, Y3, Z-1

(3) W-4, X-2, Y¥-1, Z-3 (4) W-3, X-1, Y-4, 22
W | a%:'&‘ _ 1. UEHedd

< rwEw 2 ®w

Y: el o 3. UM

4y W4, X3, Y2 z-1 @) W2, XA, Y3, Z-1
L (3) W4, x-z,'- Y1, 23 (4 W3, X-1, Y-4, Z-2

35 For Kis Sefect the .iﬁcorrect statement
(1) A Nonpianer graph. |

(2) A Biparatite, Graph

3y A Comialete Graph

(4) A Simple Graph

K, % foq o He gﬁ‘rq

(1.) e (R SR L

() T IRIERE TH

() e T

(4) TH T AT

=

03 / COMPSCI33_A} 1
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36

37

38

For language {b"ambz” 2??20,??120} select correct statement

(1) A regular language (2) A Context-free language

(3) A Type-1 Language (4) An invalid language

& T e {b”a”‘bz":}rEO,HIEO} & we W ad e

() T VT A (2) UF HEHE - Bl WIS
G) TH eEU-1 AW (4) TH T W

If jobs are sharing access to a device but only one can access the device
at one time then it is called '

(1) Reader's Problem
f2) Writer's Problem
(3) Mutual Exclusion

(4) SPOOL

-Waﬁﬁﬁa@mﬁmﬁ%ﬁﬁ%@mﬁwﬁaﬁﬁ%

mm@twﬁ%mwm%%m&ﬂ%
(1)?{3@;{“1‘@1
(Z)ﬂmw

(3) TreEw qEEegEH

@ ww

The process of giving several meaning to an operator of function is catled

(1) Abstraction (2) Overloading

(3) Encapsulation 4) Binding . |
ww&mmmmﬁﬁaﬁuﬁmé%ﬁﬁgﬁﬁmaﬁmﬁ%l
(1)_ LA @ e

(3) TR @) TR

03./‘COIMPSC133_A] | o | LI TConed.-
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39 Which of the following conversion is not possible algorithmically ?
{1)  Regular grammar to context free grammar,

(2) Non-deterministic Finite State Machine to Deterministic Finiite State
Machine.

' (3) Non-deterministic Push down Automata to Deterministic Push down
' Automata.

(4)  Non-deterministic Turing Machine fo deterministic Turing Machine
Wﬁﬁﬁﬁ?—mwﬁm@mm-ﬁj _?

CITR TWY & BRFR W AT o
o) W‘h%?ﬁﬁ@mwﬁzézmﬂﬁ%%zﬁﬁ@mmﬁaéznsﬂﬁ

'(3)' aﬁﬁzﬁﬁmgaiwaﬂﬁﬁaﬁ%aﬁﬁﬁmgﬂw
S i

(@) < fex R afr mi Y Rdhivdm e e

40 RAID Level-1 allows -
(1) | Block-Interleaved _P_arity
(2)“ Mirroring, . |
3) Strippingand Mirroring
(4) Bit-Interleaved Parity _
PR R — ¥
(1) =F gedweEs T
(2) ﬁwﬁv |
(3) @tﬂ?r aiR ARt
(4) e e T | -
03/COMZPSCI§3~A_] s (MM (Coned...
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41 The range of integers that can be represented by an n-bit 2's complement
‘number system is ' -

(1) =201 go(2n-1-1) 2 —@1-1)to @=1-1

.-(3) vl o ol (4). —271 + 1) to (271-1)

oz 2's Flie e R @ Pt @ o we ol g @ ¥
L1

(1) 27t g @) (2) —(1- 1 F @)

(3) —2o-1 @ ool @ -l F @l

42 In case of Binary Search Algorithm if the number found is present at the
' {irst place then it represents '

(1) Best Case . (2) Average Case

(3) Worst Case (4) Inv_aﬁd Case |
waﬁﬁﬁaﬂmﬂﬁfl{qﬁi@’.gaﬂwum'wfﬁﬁam%?ﬁ%'
Tgiar ¥ | -

(1) o F _' @) WeEH By

(G) wE % @) T W

43 The capacity of a memory unit is defined by the number of words niultiplied
by the -number of bits/'word. How many separate address and data lines
are needed for a memory of 4K* 16

(1) 10 address, 16 data lines (2) [1 address, 8 data lines .

(3) 12 address, 16 data lines (4) 12 address, 12 data lines

Ay g @ T W e & et o frg/a @ e @ arenfa
F ¥ ) feay o ¥ Wy &k s WA 4K* 16 W @l SEsada

Sy 10 qga,_mam? A () 11 TE, 8 S awA
(3) 12 Ty, 16 Sw1 TEA (4) 12 T34, 12 =R WEA
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- 45

46

In binary max heap containing n numbers, the smallest element can be
found in time

(1) O) (2 O(logn)

(3) Ofloglogn) 4 O

o AT AEE A9 § o X ¥ A gl e Yot Ry wwg w1 fie
(1) O (2)  Of(logn)
- (3) 0(10g10gn) - ® o0)

The inorder and preorder traversal of a binary tree are dbeafcg and abdecfg
respectively the post order traversal of the binagy tree is

(1) debfgca _ (2) edbgfca
(3) edbfgca - ' (4) deigbca

T D F e oY de ST gat@w dbeafcy Gﬁ“{ abdecfg ¥ @

aRI O F U AR TaREd ®
(1) debfsca (2) edbgfea
(3) edbfgea (@) defgbca

The subset —sum proElem is defined as follows: given a set S of n positive
integer and positive integer W, determine whether there is a subset of 8
whose elements sum to W. . )

An algorithm Q solves this problem in O(nW) time. Which of the following
statements is false? '

(1) Q solves the subset-sum problem in polynomlal time when the input
is encoded in unary.

(2) Q solves the subset-sum problem in polynomial time when the input
' is encoded in binary.

(3) The subset-sum problem belongs to the class NP

(4) - The subset sum problem is NP-hard.

"w—ww@q&amﬁaﬁr%ﬁsmaﬁaﬁm@aw

u‘l@r’rﬁrav—&ﬂ?s%zéﬁﬁﬂqﬁqgt{%s

qasqaﬁﬁzqqsﬂwa%O(nW)wﬁw%?ﬁﬁmﬁ
¥ HA-E BYT TEE B

) mwwﬁ@wm%aﬁqﬁwﬁwmﬁmq

T WEAH B gasw |

) Wwaﬁﬁ’&ﬁmﬁﬁm%eﬁQqﬁmﬁaﬁmﬁwﬁz

_wwﬁwm%l.

(3) w9c—gd WeEH NP @ Bl §0T wi § |
(4wl weH NP TR ¥
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put
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47

" 48

03 / COMPSCI33_A] 2

The concatenation of two lists is to be performed on 0(1) time. Which
of the following implementations of -a list should be used/ '

(1) Singly linked list

(2) Doubly linked list
(3y Circular doubly linked list
(4) Array implementaﬁon of list

3 fre @ e & R o) T W ¥ Frer ¥ ¥ d-d fre

() R R e
) sao fiw fre
(3) W e e e

(4) e @ T S

Suppose each set is represented as a linked list with elements in arbitrary
order. Which of the operations- among union, intersection, membership,
cardinality will be the slowest ? '

(1) union only
(2) Intersection, membership
(3) membership, cardinality

(4) Union, intersection ' S

e f i @2 e A w3 e e ¥ Praf G § @ P

¥ § Tre @ BAT AEg )

1) Rl e fme

@) zaw fow foe

() R s R fe

(4) e @ T TR

e

(WAL (Coned--.
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A% Wi one of the following statemont s FALSE v

& ‘._.‘;1ion--c-0ntext~ﬁce_ languages are closed under union
# soncatenation context-fiee langusges are closed under

3} intersection context-free languages are closed under .
(1) Kleene closure context-fiee languages aie closed under
2

T K N wum A s

(4 ariege @t war qhET & o ¥

(4 R W ggEed ¥ omm F g
e W mar Remfra ¥ owm ¥

(U RERE S well Y aelere % T ¥

S B whech of the following case process will be in Zombie state ?
t1)  when the parent process dies before the child process calls exit(),
n this case the child process becomes a zombic process.

XS

21 when the parent process has not yet called the wait{ ), but the child
~ has called exit(), in this case the child process becomes 1 zombie
ITOTess. '

13 when paront process dies before the child and it hasn'l calied wail(),
this case the child process becomes a zombig PFroCess.

(4} hone of above. _
el W ow @ om WRw dg WHarE we ¥ ¥ ?
(1w W 409 e 009 % qaa exit() calls 4 @@ gmr ¥ &
18 B B TR Wk BRI R
O R T O, wait() T&f @ ¥ T R exit)) (RE) war
R CIE IR S Y e e S |

(T T T IR WeE § Yed GEH B oMY wait() s 3

OHE N umE WRE e wde e b

TR B g Wl

A E I (cone.
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51 To represent a function in a truth table we need a list of the
combination' of then binary variables

(1) N @ o

Gy | oW
Qﬂiza%aﬁrfrwsmaﬁasﬁ%ﬁﬁrq ﬁnﬂﬁﬁaﬂaﬁﬁﬁﬁﬂﬁ
e @ srem wRl ¥

() Nxa - (2) 2n
3y 20 _ . (4) nt

52 Valid bit in each cache is associated with-
(1) Each Memory t;yte in cache
{(2) Each memory word in cache
_(3) One bi_t with the all memory words
(4) None of these - |
m%sinaﬁ%z%a%murﬁrﬁ?ﬁ%
(1) &% ¥ vle A SRe
(2) i‘ﬁs-T ¥ vyl A 9=
@) wh A em & e e R
(4) Suled § § wE @

53 Which of the following is the correct simplification of Boolean expression

ABCHAC ?

(1). BC+AC (2) BCHC

(3) BC | @) AC

FrerfeRaw ¥ & gfeaw Fhem ABCHAC &1 w8 & 7
(1) BC+AC ) BCHC

(3)- BC | @ AC
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s4 A simple protocol used for fetching e-mail from a remote mailbox is

Which . is defined in RFC 1064 ?

(1} IMAP (2) DMSP

(3) POP3 ‘ (4) PrGp

%-—ﬁaaﬁﬁrﬁzﬁﬁmﬁ@rﬁ%%ﬁﬁﬂwmmmﬁ
st o B REC 1064 & wiewfyq &an ¥ a8 &

(1) IMAP (2) DMSP

- (3) POP3 _ : 4 PiGp

When a bad frame is received , the frame relay service ?

[#1]
th

(1) Simply receive it (2 Simply discard it
3) Provide acknowledgement (4) none of these

wa = % onl ¥ @ bu P wffE e ¥ 7
) Tl s da@ ¥ @) & vz ¥
¢) gk iy (4) oI B W

56 Whicﬁ is a method _of imple_m.entations-of IDS (Intt_'uéion ]jctection System) ‘? |

(1) ngnature Identification N |
(2) Recognition and Statistical Aﬁomaly Detection *
(3) Both (1) and (2)

- (4) None of these _ _
IDS (3= Ry ﬁraﬁ) ® W ®W *® fag B 7

() R emAfher |

@ e oliX e T R
@) @ s @ |
@) SWE W § @y T
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In the direct file organization, the key value is mapped directly to the strong
location. The usual method of direct mapping is by performing some
arithmetic manipulation of ihe key value . This Process is Known as-

(1} -Bucket Addressiﬁg
(2) Hashing |

(3) Clashing

(4) Direct Mapping

TREE BEA SNHAEWTE ¥, a»?r%m_%ﬁﬁwrrﬁﬁssﬁwfﬁam?ﬁ%,
wETTad S A A den @-gear & EW @6l € 9@ W @l

(1) e wghm
@) W
(3) a@rfsﬁ -
NORES R Ly | | :
58 A | _is said to occur ‘when two distinct key values are mapped
to the same storage location ' ' : '
(1) ‘Clashing
(2) Collision
(3) Chaining
" (4) Probing |
s @ e T & @ W T R § @ s ¥
(1) il
(2) HfwagE
@) A
(4) st
03/ COMPSCI33_A] | 25
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59 Changing and indexing are the strategies of

(D
(2)
3)
4

P ok wRfww @ Rewed gawad € 7

(1

2)

Contiguous allocation
Non-contiguous Allocation
Partitton allocation

Stat ic allocation

- TR
) A aﬂ“’r@a Eﬂ“l%ﬂﬁ.
ﬁ?ﬁ RGiEEy
e

60 A transaction between two memory resident process in a multiprogramming
system is called ' " '

(1) Context sv.v'itch

(2) Mode switch

(3) Transaction switch

o 'Noﬁe of these
Wﬁmﬁﬁﬁﬁﬁ%ﬁ%mmm%_
) m R |

(25 | s fem |

'(.3) FARS N LRI

(4) wﬁaa'ff@f B o
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main{ )

i
mt counter=40:

tor{;counter;)
counter:

print{"%d" counter);

]

- What s output?
(hy 40 (2) 40’
3y 0 (4y None of these

A A 1 3
mami )
]
¢
int counter=40;

for{ counter;)

counter,

prmt{({"%ea", counter};

;
{1y 40 (2) -40
(3}

0 N (4) IHE # G @5 TE

A type of inheritance that permits a class to have more thua ong supes
class and to inherit featores from all ancestors-

{!j' Inhentances {2}y Multiple inheritance
{3} Subclasses " {4) Super classes

% e w1 uen o e us o U U @ SOt @O wknd =T oiad
i qrEl @ g faem ¥

{1y =wfewy - (2) TedTE RIS

RETE (4) FUC FHH

e,

7 IR e oo
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63

64

&
n
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Which of the following is different from the ‘group ?
(1) Private . (2) Protected

(3 Public (4) Friend

'ﬁm%mi‘r@raﬁ?mgq@rw%?

(1) WEEE (2) wWeHE

() dRes : @) %=

&

Which is the following statement is false regarding SQL statemén,t ?

(1) SQI statement are not case sensitive

(2) SQL statement-cén be on one or more lnes

(3) Keywords can be.;abbreviated or spilt across lines

(4) Clauses are usually pléces on separate lines
SQLauaaaazﬁﬁﬁmﬁrﬁﬂﬂﬁ'@raﬁﬁ~mmmm% ?

(1) SQL o -

(@) SQmewmw%maﬁaﬂwm%

3) a?raé@rﬁaﬁmmmeﬂ'{mﬁaﬁm

4) mmaa‘rwaﬁ‘—rﬁm

Which of the following is not valid date types in SQL ?

(1) CHAR ~ (2) FLOAT

(3) CLOB - (4) DATE

S § 4 @AW SQL ® ww A8 ¥ 7
(1) CHAR (2) FLOAT

(3) CLOB (4) DATE

66

67

- 68

- 03,
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~The comphed form of the definitions is known as

67

63

© 03/ COMPSCI33_A] 29
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(1) Data Dictionary (2) Directory
(3)  System catalou (4) Al of these
afaTel 1 SrgHTEST ST SIS

() wm RmeR (@) s W
) R W @) SR B

What is the first activity of the prototype model ?
(1)  Designing of the test model_' Q) Réquirement-gathering

(3)_ Testmg of model (4) None of these

'm‘lzﬁqwa?raﬁmmwaﬂﬁ ?

(1) *L Ared _a?r-%v_ﬂsﬁ m_(z) .araﬁ%a IHTBT
(G) TEd & L ®ET . @) mﬂaﬁﬁ%ﬁﬂﬁ
Project indicatorls enable a software project manager to

(1) Assess the status of an ongoing project

(2) Track Potential risks- |

(3) Uncover problem areas before they " go critical

(4) All of the above |

fa T, e FeR B Wi w ¥

(1) o @ W @ wem B dE

(@) =W e ge | |
() Ti-Befw & Wt & v R waE A ww

(4) SwdE @

3
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.design use information flow characteristics to derive program

sfructures.

(1) Procedural 2 Architectural

3} User Interface (4) None of thesé | _
Wﬁaﬁ-—@mmsmmﬁm%mewﬁw%
) s o @
(3)@@8 -(4)@1’@?[%!@[?1?1%7@

What are safest way t0 edit registry in win 95 7

(1) Edit o (2)  REGEDIT

(5) DEVICE MANAGER () Control Panel Applets

ﬁﬁ%ﬁr%@raﬁq%z'aﬂ%%ﬁmmﬁgﬁmam%?
e @ W
() fearE W (@) o TR

Windows 2000 support creation - of whlch type of volume
() RaidS (2 Spanned

) Both (1) and () (4) Nore of these 3
firedrer 2000 PR TER % aa{qaﬁawﬁﬁnaﬁw%
M B’ I @) WS

3) & (1) d Q) @) owE X A W

Fous comnected algorithm is used 0T -

(1) Hidden surface cemoval  (2) Polygon filling
(3) Line drawing (4) Circle drawing
w.@%gqﬁﬁwwm@aﬁﬁaﬂ%%l
() e wdE TETH (2) e ReleT
o wews O SEae
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73 Weaving is composed of

{ 1). Scaling, translation - (2) Rotation, Shearing
(3) - Scaling, rotation (4) Reﬂection_.. |
i fred s ¥

(1) whfem, TrmeE (2) <eem, Rmfar

(3) I"éﬁﬁ\‘iﬂ,'ﬁ%mﬁ o (@) T

74 To rotate a text using HTML : \J;fhat tag is u-sed 9
(1) ROTATE _QUEUI.E. () MARQUE
(3) ASCIl o (4) None of the above ,
Ueh qresatsT (text)ﬁHTMl,ergqﬁﬂﬁﬁ‘m w%rrtmhﬂﬁaﬂm%
() Wew @ w
(3) e | | (4)wﬁaﬁﬁ@ra%§=|é‘r

75 .. Fuil fdrln of XML is
(1) External Modern language
(2) Ektendilile Markup language
(3) E_xtemal Markup laﬁguage
4) . Executable queling language
HURET ok SR U
(2) qaa%%aa ARG ?11%?7
(3) . Twestw wrdhe aﬁm
@ qm@ma mefiiT e

WCOMPSCIS Al L (Cove




333 333 333
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